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WorkSheet 5 I Lower Secondary
Stage (6-8)
1" Semester | 2023-2024
Subject: Math Chapter: 3
Objectives:

* To write large and small numbers using standard form
* To calculate using standard form

The National
Orthodox School

Ql:  a) Write the number 230 00 in standard form.

b) Write 6.3 X 10" as an ordinary number.

a) 23x0°

b) 0.0063

Q2: a) Write the number 0.000 47 in standard form.
b) Write 3.7 X 10° as an ordinary number.

5x10°

8§x107°
Give your answer in standard form.

fl) 4.3 X 1o
b) 300 coo ]
) 0.625X10° = 6.25 XIO

c¢) Work out the value of

Q3:  Work out the value of (6 X 10%) X (§ X 1074).
Give your answer in standard form.

YgX\O =4.BXI0
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Qa:

Qs:

Qe:

q,) \S 600 rollion

The distance between Mercury and the Sun is 58 000 000 km.
n)  Write the number S8 000 (00 in standard form.,

Uranus is S0 times as far from the Sun as Mercury,
b) Caleulate the distance between Uranus and the Sun.
Give your answer in standard form,

1
ﬁ’) S.2X10 km
1
b) S50 X5.8 X0
- i
L’.QOXIL:‘ = 2.9¥10 lem

Work out the value of (7.2 X 10%) + (4.7 X 10%).
Give your answer in standard form,

S 3 4
F2 X0 5 XD 2 1.2 10 + 43 X106

3
Faxis + Y. Xl 4.63 X10

36.3 xio®
1.63 Xlo'

The age of the Universe is approximately 15 000 million years.
a) Write the number 15 000 million in standard form.

1 gigayear = 107 years.

b) Express the age of the Universe in gigayears.

&
Mo =10 4 10
' - \Soookle = 15X 10

b) Q.Smé,?-_: 0 -1.5x10= 1S P gRAS

qQ7:

x=2X10"and y = 3 X 10" where m and n are integers,
Find an expression, in standard form, for xy.

~x :j:('l)floﬂii (3x10)

~y= Exio
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Q8 P=2+5)

a=35X10%ndb =27 x 107
Work out the value of 2.
Give your answer in standard form.

P=2a 45k

P= 2 XE}.'."SXIDG+ 5X2.7 )(I't)-i
?:?ﬂﬁﬂi&%mg

P= 03 xid 4 RSYIO

P= U 2xio - kY2 ¥10

Qs: y= a+b
A ith

a=2x100andb =8 X 1B

Work out the value of y.
Give vour answer in standard form correct to 3 significant figures.

Y (=
Y= 2xio + BXb
(xs')x (8%10°)

-5 -5
\‘j- 2xu§‘+ Sbkloq L Szﬂg_s.usxro = 5.\3X10 @:-S.F)
2X10 + BOAE = 8L T

Qlo: F=3p-4q
p=2x10%andq =8 X 10"¢
Waork out the value of F.
Give your answer in standard form.

-6

=g ax 2516 = 4X3X10
- -6
é){los-’s'l)\'lo
.5 -

‘F'; leo - B_O.XID

-5
F-2.2Xlo

M
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Qll: 32X I0'+ax107=38% 10*
Find the value of a.

3
3.2 103+&x1c;i=3-? X0,
-3 le% -2.2 XD

3
0.6 X0
o7

a..kmy=
T

az Cl.é‘ X0
ce— 6

Q12: x =7 X |0" where n is an integer.
Find an expression, in standard form, for x?
Give your expression as simply as possible.

~="TFX\0O"

2
'X.l: (_:'f K\S)

20+ = Sﬁndaﬂﬂ {g_ﬁ,m
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